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Róth Bernadett

Shelley’s Poetry

In case of Shelley the conflict was between his atheism and his materialism, he has being revolutionary, a kind of activists; on the other hand he was an idealist at the same time. It’s William Godwin who is going to be Shelley’s father in law. Godwin’s works were very important for him in case of materialism, political radicalism, atheism. On the other hand is Platón’s idealism. Conflict of body (it’s given)↔phisicality, materiality ( a time bound existence we can not very much control). Shelley very much identified himself as a spirit, as a free spirit.

· Ode to the West wind (associated with autumn): how the conflict of body, mortality, phisicality is contrasted to the free spirit embodied its strange world. Free spirit represented, associated with the wind which is of course an unseen presence. In case of body and spirit air and air in notion is sg. that  connect the two because in case of body we can’t live without. Breathing is a motion in air + wind is a motion in air. On the level of philosophy we can define the conflict as a sort of philosophical conflict on the materialism side. Nature seen as neccessity, as something given, on the other hand nature seen as a spirit of love. 

· The Cloud: Clouds are important in the Ode to.. in Wordsworth poems and Blake’s introduction of The Song of innocence ( the young piper can see the child on a cloud; it’s the child who follows him). Cloud is an everyday experience. What is main quality of clouds? It’s change. The speaker, the lyrical self the “I” is the cloud itself for herself. The cloud speaks. The cloud is the form of hail than; than it whitens the green fields (snow) than dissolve rain and than it gives the due (?), the early morning due (?). The cloud goes on describing that sort of not fixed condition of the cloud; it actuallyemphasizes the great variety of forms; the shape’s form a cloud makes in addition being the source of rain, snow etc… The cloud is transcending; it’s everywhere, it’s floating over earth and ocean with motion. There’s a description of the psyche: how the cloud changes itself into time; but it’s never the same, they’re always changing → eternal things. Change duality into eternality, mortality. It has its nourishing function. There’s nature as neccessitiy as something existing and operating in itself. There’s no God’s presence in that kind of nature. This eternal nature is symbolized by the cloud: ‘I change but I can’t die’. → it’s a representation of nature as a neccesity. 

· To a Skylark: nature as a spirit of love. Skylark is an actually existing bird. It’s special because the title is ‘To a  skylark’.→ not to be a skylark; it to be an actual bird. The skylark is not a bird at all. The poet calls the skylark as a spirit. He can’t see the bird, he can only hear the skylark’s song → an unseen presence like the wind. Although the skylark is an actually existing body, the poet tells that "He you white spirit you're’not a bird". ”Addressing the bird as a spirit. The skylark is singing; the bird’s power is in his song. This song is a perfect act, an “unpremeditating  ( előre meg nem fontolt) act”. It’s song seen as a beauty itself. Describes the beauty as the skylark flying higher and higher. The song of the bird can be heard. Unbodied joy: the song is so perfect that it creats joy which is unbodied. Spirituality of nature.

1st stanzas describe the quality of the skylark’s song: unseen presence, unbodied joy, unpremeditating art. The following 7 stanzas: the poet puts the question which he tries to answer in the second part. What art we know not? Each stanza begins with “like”. We can try to describe what is not like you. We mortals in our materiality try to liken the bird  to sg. He tries to define the undefinable. The quality of nature, the spirit of love are undefinitabilty. 4th part very important as to Shelley’s understanding of poetry: we can’t define the quality of the unpremeditating. The skylark is maybe an artistic inspiration ; a kind of vision ( Blake: the poet as a profet who has vision and poetry is actually recording the poet’s perfect vision) The poet tries to record but of course he can not. The skylark is the figure of nature as a spirit of love. Shelly died early. There was a shift in his poetry; less didactic, full of mystery, ecstasy ( reach the unreachable) 

John Keats

Handout 6. (szóról szóra ua.) He is very much aware of his dying body. Soul is very crucial for Keats. Sleep is a crucial motive in Keats’ poetry. Sleep is a sourece of inspiration. In sleep yuo can experience the happy gloom. There’s an awakening into reality → La Belle Dame Sans Merci: negative capability. Why the French title? Goes back to medieveal romances. The story is about a young knight and a beautiful lady. Uses the ballad tradition. The whole poem consists of 12 stanzas. First 3 stanzas are actually questions by someone who needs the knight and puts the question to him. Dying nature is parallel with the decay of the young knight who is lonely. There’s sg wrong with him. He is loytering (kószál). 4-12 stanzas are the answers to that question.   

